

Turkish Journal of Mathematics

http://journals.tubitak.gov.tr/math/

Turk J Math (2022) 46: 973 – 990 © TÜBİTAK doi:10.3906/mat-2112-55

Research Article

Multiplicative conformable fractional Dirac system

Sertaç GÖKTAŞ¹[©], Hikmet KEMALOĞLU²[©], Emrah YILMAZ^{2,*}[©]

¹Department of Mathematics, Faculty of Science and Letters, Mersin University, Mersin, Turkey ²Department of Mathematics, Faculty of Science, Firat University, Elazığ, Turkey

Received: 12.12.2021 • Accepted/Published Online: 03.02.2022	•	Final Version: 11.03.2022
--	---	----------------------------------

Abstract: In multiplicative fractional calculus, the well-known Dirac system in fractional calculus is redefined. The aim of this study is to analyze some spectral properties such as self-adjointness of the operator, structure of all eigenvalues, orthogonality of distinct eigenfunctions, etc. for this system. Moreover, Green's function in multiplicative case is reconstructed for this system.

Key words: Conformable Dirac system, Multiplicative conformable fractional derivative, Multiplicative conformable fractional integral, Multiplicative Dirac system, Non-Newtonian calculus

1. Introduction

This study is organized as follows:

In the present section, we'll introduce a multiplicative conformable fractional (CF) Dirac (α -*Dirac) system. Then, we research some studies closely related to the present system,

In Section 2, we'll give some basic definitions and properties of the multiplicative calculus, the CF calculus theory, and multiplicative CF calculus,

In Section 3, we'll calculate asymptotic estimates of the *eigenfunctions of α -*Dirac system,

In Section 4, we'll investigate some spectral properties as self-adjointness of operator, the structure of all eigenvalues, orthogonality of distinct eigenfunctions for $\alpha - *$ Dirac system,

In Section 5, we'll reconstruct the Green's function of this system.

Consider the following $\alpha - *$ Dirac system

$$(B \odot \tau y(t)) \oplus (Q(t) \odot y(t)) = e^{\lambda} \odot y(t), \qquad t \in [a, b],$$
(1.1)

with the conditions

$$U_1(y) := (e^{c_1} \odot y(a)) \oplus (e^{c_2} \odot \tau y(a)) = 1,$$
(1.2)

$$U_2(y) := \left(e^{d_1} \odot y(b)\right) \oplus \left(e^{d_2} \odot \tau y(b)\right) = 1, \tag{1.3}$$

where λ is a spectral parameter; q(t), r(t) are real-valued continuous and multiplicative CF integrable functions

^{*}Correspondence: emrah231983@gmail.com

²⁰¹⁰ AMS Mathematics Subject Classification: 11N05, 26A33, 34A08, 34L05, 34L40.

on [a,b]; $(c_1^2 + c_2^2) (d_1^2 + d_2^2) \neq 0$, $c_i, d_i \in \mathbb{R}$ (i = 1, 2) and

$$B = \left[\begin{array}{cc} 1 & e \\ e^{-1} & 1 \end{array} \right], \quad Q(t) = \left[\begin{array}{cc} e^{q(t)} & 1 \\ 1 & e^{r(t)} \end{array} \right].$$

Throughout this study, $\tau \cdot$ denotes ${}^*T_{\alpha} \cdot = \frac{d_{\alpha}^* \cdot}{d_{\alpha}^* t}$ (the multiplicative CF derivative of order $\alpha \in (0, 1]$ on t) for brevity.

For the above system,

$$y(t,\lambda) = \begin{bmatrix} y_1(t,\lambda) & y_2(t,\lambda) \end{bmatrix}^T$$

is the *eigenfunction of the system (1.1)-(1.3) corresponding to the *eigenvalue λ , where T denotes transpose of the matrix and y_j , j = 1, 2 are continuous and positive functions. If we simplify this system by using the properties of multiplicative CF calculus [2], following multiplicative system is obtained:

$$\boldsymbol{D}_{\alpha}\left[y\right] = e^{\lambda} \odot y = \left[\begin{array}{cc} y_{1}^{\lambda} & y_{2}^{-\lambda} \end{array}\right]^{\mathrm{T}}, \tag{1.4}$$

with the conditions

$$U_1(y) = y_1^{c_1}(a) y_2^{c_2}(a) = 1, U_2(y) = y_1^{d_1}(b) y_2^{d_2}(b) = 1,$$
(1.5)

where

$$oldsymbol{D}_{lpha}\left[y
ight] = \left\{egin{array}{c} au y_2 \, y_1^{q(t)}, \ au y_1 \, y_2^{-r(t)}, \ au y_1 \, y_2^{-r(t)}. \end{array}
ight.$$

Let's start with the necessity of developing and applying multiplicative (geometric) fractional calculus by reminding the importance of the polar coordinates while cartesian coordinates already exist. Furthermore, the theory of multiplicative fractional calculus is a combination of both fractional and multiplicative theories. Therefore, it is necessary to examine these two theories separately.

Firstly, let's consider the fractional calculus theory. Fractional calculus encountered in different fields of engineering and science extensively with a variety of applications [13, 34, 37, 39, 42] defines a generalization of classical calculus. Almost all fractional derivatives such as Grünwald–Letnikov, Riemann–Liouville, Caputo and Jumarie, Marchaud and Riesz used in the literature fail to satisfy some fundamental properties. Thus, we prefer CF derivative in the present study. It can be found fundamental properties and main results in [1, 33] and other results in [7, 15, 16, 36–38, 40, 45] on conformable fractional derivative.

Secondly, let's consider the multiplicative calculus theory. Multiplicative calculus was firstly presented as an alternative to usual calculus by Grossman and Katz [25, 26]. This is also entitled simultaneously Geometric calculus which is one of sub-branches of non-Newtonian calculus. Afterwards, the basic features of multiplicative calculus were explained by many authors, and important results were obtained [10, 11, 17, 43]. This calculus changes the roles of known operations such as multiplication instead of addition, division instead of subtraction due to the properties of the logarithm. It develops additive calculations circuitously. Although it has a relatively restrictive (includes only positive functions) applications compared to calculus of Newton and Leibnitz. Some difficult problems in usual calculus may be arranged incredibly easily here. In the usual calculus, each feature may be redefined in multiplicative calculus by specific rules. Many phenomena where the logarithmic scale appears are given by means of multiplicative derivatives. Therefore, considering multiplicative calculus in place of usual calculus lets better physical appraisal for these events. This calculus yields better outcomes than the usual case in numerous fields as applied mathematics[24, 46–50] biology[9]; chaos theory[5, 6]; demography, earthquakes[14]; engineering[12]; economics[18, 21]; business[41] and medicine[22].

Finally, we refer to study [2] that encourages us and from which the main concepts of the multiplicative fractional calculus are set. Here, it has been defined Caputo, Riemann, Letnikov, and conformable multiplicative fractional derivatives and multiplicative fractional integrals and have been studied some of their properties.

In recent years, since it appears in solving many problems of natural, engineering, physics, and the social sciences in a natural manner, Dirac system theory as an attractive field of research has been received considerable attention [3, 8, 19, 20, 23, 30, 32, 35, 44]. When we take into account the form of the system (1.1)-(1.3), α -*Dirac system is obtained by replacing the multiplicative CF derivative with the fractional derivative. This method has been similarly applied by replacing the fractional derivative with the derivatives such as usual, delta, etc. by many authors [4, 27, 38].

2. Preliminaries

Here, we give some basic definitions and features of CF calculus, multiplicative and multiplicative CF theories that we'll use for the rest of present study.

First of all, let's focus on some of arithmetic operations we used throughout the study. The arithmetic operations occurred by exp-functions are known as multiplicative algebraic operations. Let's denote some features of these operations with below arithmetic table, where $p, r \in \mathbb{R}^+$:

$$p\oplus r=p\,r,\quad p\ominus r=rac{p}{r},\quad p\odot r=p^{\ln r}=r^{\ln p},\quad p^{2_G}=p\odot p=p^{\ln p}.$$

Above operations construct several algebraic structures. If $\oplus : E \times E \to E$ is an operation for $E \neq \emptyset$ and $E \subset \mathbb{R}^+$, (E, \oplus) is a *group. Analogously, (E, \oplus, \odot) defines a ring in multiplicative sense [31].

Definition 2.1 [1, 33] Let $f : [a, \infty) \to \mathbb{R}$. Then, left and right CF derivatives of f order $\alpha \in (0, 1]$ are defined by:

$$T^{a}_{\alpha}f(t) := \lim_{h \to 0} \frac{f(t+h(t-a)^{1-\alpha}) - f(t)}{h},$$

$${}^{b}_{\alpha}Tf(t) := -\lim_{h \to 0} \frac{f(t+h(b-t)^{1-\alpha}) - f(t)}{h},$$

respectively.

When a = 0, the left CF derivative can be written as T_{α} . If f is usual differentiable, then $T_{\alpha}f(t) = t^{1-\alpha}f'(t)$.

Definition 2.2 [1, 33] Let $f : [a, \infty) \to \mathbb{R}$. Then, left and right CF integrals of f order $\alpha \in (0, 1]$ are defined by:

$$I_{\alpha}^{a}f(t) := \int_{a}^{t} f(x)d_{\alpha}(x,a) = \int_{a}^{t} (x-a)^{\alpha-1}f(x)dx,$$

$${}^{b}I_{\alpha}f(t) := \int_{t}^{b} f(x)d_{\alpha}(b,x) = \int_{t}^{b} (b-x)^{\alpha-1}f(x)dx,$$

respectively for t > 0. Where, the last integrals to the right of these equalities are the usual Riemann integrals.

When a = 0, the left CF integral can be written as I_{α} and $d_{\alpha}(x, a) = d_{\alpha}x$.

Definition 2.3 [2] Let $f : \mathbb{R} \to \mathbb{R}^+$. Then, forward and backward multiplicative derivatives of f(t) are defined by:

$$\begin{split} \frac{d^*}{dt^*} f(t) &= f^*(t) := \lim_{h \to 0} \left(\frac{f(t+h)}{f(t)} \right)^{\frac{1}{h}}, \\ \frac{d_*}{dt_*} f(t) &= f_*(t) := \lim_{h \to 0} \left(\frac{f(t)}{f(t-h)} \right)^{\frac{1}{h}}, \end{split}$$

respectively.

It can be easily shown that

$$f^{*(n)}(t) = f_{*}^{(n)}(t) = \exp\left(\frac{d^{n}}{dx^{n}}\ln f(t)\right).$$

Definition 2.4 [2] Let $f : [a, b] \to \mathbb{R}^+$. Then, forward and backward multiplicative integrals of f(t) are defined by:

$$\int_{a}^{b} f(t)^{dt} = \int_{a}^{b} f(t)_{dt} = \exp\left(\int_{a}^{b} \ln f(t) dt\right).$$

Definition 2.5 [2] Let $f : [a,b] \to \mathbb{R}^+$. Then, left and right side multiplicative CF derivatives of f order $\alpha \in (0,1]$ are defined by:

$${}^{*}T^{a}_{\alpha}f(t) := \lim_{h \to 0} \left(\frac{f(t+h(t-a)^{1-\alpha})}{f(t)}\right)^{\frac{1}{h}},$$

$${}^{b}_{\alpha}T^{*}f(t) := \lim_{h \to 0} \left(\frac{f(t+h(b-t)^{1-\alpha})}{f(t)}\right)^{-\frac{1}{h}},$$

respectively.

Proposition 2.6 [2] Let $f : [a, b] \to \mathbb{R}^+$ and $\alpha \in (0, 1]$. Then,

(i)
$${}^{*}T^{a}_{\alpha}f(t) = \exp\left\{T^{a}_{\alpha}\ln f(t)\right\} = \exp\left\{\frac{T^{a}_{\alpha}f(t)}{f(t)}\right\},$$
 (2.1)
(ii) ${}^{b}_{\alpha}T^{*}f(t) = \exp\left\{{}^{b}_{\alpha}T\ln f(t)\right\} = \exp\left\{\frac{{}^{b}_{\alpha}Tf(t)}{f(t)}\right\}.$

Definition 2.7 [2] Let $f : [a,b] \to \mathbb{R}^+$. Then, left and right side multiplicative CF integrals of f order $\alpha \in (0,1]$ are defined by:

$$\binom{*I_{\alpha}^{a}f}{(t)}(t) := \int_{a}^{t} f(x)_{d_{\alpha}^{*}(x,a)} = \exp\left\{\int_{a}^{t} \ln f(x)d_{\alpha}(x,a)\right\}$$

$$= \int_{a}^{t} f(x)_{dx}^{(x-a)^{\alpha-1}} = \exp\left\{\int_{a}^{t} (x-a)^{\alpha-1} \ln f(x)dx\right\},$$

$$\binom{b}{(\alpha}I^{*}f)(t) := \int_{t}^{b} f(x)_{d_{\alpha}^{*}(b,x)} = \exp\left\{\int_{t}^{b} \ln f(x)d_{\alpha}(b,x)\right\}$$

$$= \int_{t}^{b} f(x)_{dx}^{(b-x)^{\alpha-1}} = \exp\left\{\int_{t}^{b} (b-x)^{\alpha-1} \ln f(x)dx\right\},$$

$$(2.2)$$

respectively for t > 0, where last integrals to the right of these equalities are usual Riemann integrals.

When a = 0, the left multiplicative CF integral can be written as ${}^*I_{\alpha}$, and $d^*_{\alpha}(x,a) = d^*_{\alpha}x$.

Proposition 2.8 [2] Let $f : [a, b] \to \mathbb{R}^+$ and $\alpha \in (0, 1]$. Then, (i) $({}^*T^a_{\alpha}{}^*I^a_{\alpha}f)(t) = f(t)$, if f is continuous, (ii) $({}^b_{\alpha}T^*{}^b_{\alpha}I^*f)(t) = f(t)$, if f is continuous, (iii) $({}^*I^a_{\alpha}{}^*T^a_{\alpha}f)(t) = \frac{f(t)}{f(a)}$, (iv) $({}^b_{\alpha}I^*{}^b_{\alpha}T^*f)(t) = \frac{f(t)}{f(b)}$.

Theorem 2.9 Let $f, g: [0,b] \to \mathbb{R}^+$ be left multiplicative CF differentiable of order $\alpha \in (0,1]$ and h be CF differentiable order $\alpha \in (0,1]$ at t. Then,

(i)
$$\tau(cf)(t) = \tau f(t),$$

(ii) $\tau(fg)(t) = \tau f(t) \tau g(t),$
(iii) $\tau\left(\frac{f}{g}\right)(t) = \frac{\tau f(t)}{\tau g(t)},$
(iv) $\tau(f^{h})(t) = \{\tau f(t)\}^{h(t)} f(t)^{T_{\alpha}h(t)},$
(v) $\tau(f \circ h)(t) = \{(\tau f)(h(t))\}^{T_{\alpha}h(t)h(t)^{\alpha-1}},$
(vi) $\tau(f + g)(t) = [\tau f(t)]^{\frac{f(t)}{f(t) + g(t)}} [\tau g(t)]^{\frac{g(t)}{f(t) + g(t)}},$
(2.4)

where c is a positive constant.

(2.3)

Proof From [1, 33], all of the rules can be easily proved. For example, from (2.1) and

$$T_{\alpha}(fg)(t) = g(t)T_{\alpha}f(t) + f(t)T_{\alpha}g(t),$$

we obtain

$$\tau (fg) (t) = \exp\left\{\frac{T_{\alpha}(fg)(t)}{(fg)(t)}\right\} = \exp\left\{\frac{g(t)T_{\alpha}f(t) + f(t)T_{\alpha}g(t)}{f(t)g(t)}\right\}$$
$$= \exp\left\{\frac{T_{\alpha}f(t)}{f(t)}\right\} \exp\left\{\frac{T_{\alpha}g(t)}{g(t)}\right\} = \tau f(t) \tau g(t).$$

In addition, (2.1) and

$$T_{\alpha}(f \circ h)(t) = T_{\alpha}f(h(t))T_{\alpha}h(t)h(t)^{\alpha-1},$$

yields

$$\tau \left(f \circ h \right) \left(t \right) = \exp\left\{ \frac{T_{\alpha}(f \circ h)(t)}{(f \circ h)(t)} \right\} = \exp\left\{ \frac{T_{\alpha}f(h(t))T_{\alpha}h(t)h(t)^{\alpha-1}}{f(h(t))} \right\}$$
$$= \left\{ \exp\left\{ \frac{T_{\alpha}f(h(t))}{f(h(t))} \right\} \right\}^{\left\{ T_{\alpha}h(t)h(t)^{\alpha-1} \right\}} = \left\{ \left(\tau f\right) \left(h(t)\right) \right\}^{T_{\alpha}h(t)h(t)^{\alpha-1}}.$$

Theorem 2.10 Let $f, g: [0, b] \to \mathbb{R}^+$ be left multiplicative CF integrable of order $\alpha \in (0, 1]$ at t. Then,

$$(i) \int_{0}^{b} [f(t)]_{d_{\alpha}^{*}t}^{k} = \left[\int_{0}^{b} f(t)_{d_{\alpha}^{*}t}\right]^{k},$$

$$(ii) \int_{0}^{b} [f(t)g(t)]_{d_{\alpha}^{*}t} = \int_{0}^{b} f(t)_{d_{\alpha}^{*}t} \int_{0}^{b} g(t)_{d_{\alpha}^{*}t},$$

$$(iii) \int_{0}^{b} \left[\frac{f(t)}{g(t)}\right]_{d_{\alpha}^{*}t} = \frac{\int_{0}^{b} f(t)_{d_{\alpha}^{*}t}}{\int_{0}^{b} g(t)_{d_{\alpha}^{*}t}},$$

$$(iv) \int_{0}^{b} f(t)_{d_{\alpha}^{*}t} = \int_{0}^{c} f(t)_{d_{\alpha}^{*}t} \int_{c}^{b} f(t)_{d_{\alpha}^{*}t},$$

$$(v) \int_{0}^{b} [\tau f(t)]_{d_{\alpha}^{*}t}^{g(t)} = \frac{f(b)^{g(b)}}{f(0)^{g(0)}} \left\{\int_{0}^{b} f(t)_{d_{\alpha}^{*}t}^{T_{\alpha}g(t)}\right\}^{-1},$$

$$(2.5)$$

where $k \in \mathbb{R}$ and $c \in [a, b]$ is a positive constant. The last formula is called $\alpha - *$ integration by parts formula. **Proof** We only prove (*ii*) and (*v*). The proofs of (*i*), (*iii*) and (*iv*) are similar. From (2.2) and the features of multiplicative derivative, we get

$$\int_{0}^{b} [f(t)g(t)]_{d_{\alpha}^{*}t} = \int_{0}^{b} [f(t)g(t)]_{dt}^{t^{\alpha-1}}$$
$$= \int_{0}^{b} [f(t)]_{dt}^{t^{\alpha-1}} \int_{0}^{b} [g(t)]_{dt}^{t^{\alpha-1}} = \int_{0}^{b} f(t)_{d_{\alpha}^{*}t} \int_{0}^{b} g(t)_{d_{\alpha}^{*}t}.$$

On the other hand, after applying multiplicative CF integral to both sides of the equality (2.4) and considering *(ii)*, we arrive at

$$\int_{0}^{b} [\tau f^{g}(t)]_{d_{\alpha}^{*}t} = \int_{0}^{b} [\tau f(t)]_{d_{\alpha}^{*}t}^{g(t)} \int_{0}^{b} f(t)_{d_{\alpha}^{*}t}^{T_{\alpha}g(t)}.$$

Finally, since $\int_{0}^{b} [\tau f^{g}(t)]_{d_{\alpha}^{*}t} = \frac{f(b)^{g(b)}}{f(0)^{g(0)}}$ by (2.3), we complete the proof.

Definition 2.11 Let $f : [0,b] \to \mathbb{R}^+$ and $\alpha \in (0,1]$.

$${}^{*}L^{2}_{\alpha}[0,b] = \left\{ f : \int_{0}^{b} \left[f(t) \odot f(t) \right]_{d^{*}_{\alpha}t} < \infty \right\}$$

is an * inner product space with

$$<,>_*: {}^*L^2_{\alpha}[0,b] \times {}^*L^2_{\alpha}[0,b] \to \mathbb{R}^+,$$

 $< f,h>_*= \int_0^b [f(t) \odot h(t)]_{d^*_{\alpha}t},$

where $f, h \in {}^{*}L^{2}_{\alpha}[0, b]$ are positive functions.

Definition 2.12 For an arbitrary multiplicative square matrix $B = [e^{b_{ij}}]_{n \times n}$, let $\{\lambda_i\}_{i=1}^k$ be set of distinct * eigenvalues of B. The * characteristic polynomial of B, denoted $\Delta(\lambda)$, can be written in the factorized form

$$\Delta(\lambda) = \det\left(B \ominus \left\{e^{\lambda_i} \odot I\right\}\right) = e^{(\lambda_1 - \lambda)^{m_1}} \odot e^{(\lambda_2 - \lambda)^{m_2}} \odot \cdots \odot e^{(\lambda_k - \lambda)^{m_k}}$$

with $m_1 + m_2 + \cdots + m_k = m$. When $\Delta(\lambda) = 1$, the exponent m_i , corresponding to each eigenvalue λ_i , is called the algebraic * multiplicity of λ_i . Moreover, dimension of the null space of $B \ominus \{e^{\lambda_i} \odot I\}$ is called the geometric * multiplicity of λ_i . If $m_i = 1$ for some $i \in \overline{1, k}$, then λ_i is said to be a simple eigenvalue of B (see [29] for examples).

Remark 2.13 Let λ_0 be a root of the * characteristic polynomial $\Delta(\lambda)$. We say that is a root of the algebraic * multiplicity l if $\Delta(\lambda_0) = 1$, ${}^*T_{\alpha}\Delta(\lambda_0) = 1$, ${}^{*(2)}T_{\alpha}\Delta(\lambda_0) = 1$, \dots , ${}^{*(l-1)}T_{\alpha}\Delta(\lambda_0) = 1$ but ${}^{*(l)}T_{\alpha}\Delta(\lambda_0) \neq 1$.

3. Asymptotic estimates of *Eigenfunctions

Theorem 3.1 * eigenfunctions of the system (1.1)-(1.3) have below asymptotic estimates

$$y_1(t,\lambda) = \left[y_1(0)\right]^{\cos\left(\lambda\frac{t^{\alpha}}{\alpha}\right)} \left[y_2(0)\right]^{-\sin\left(\lambda\frac{t^{\alpha}}{\alpha}\right)} \int_0^t \left[\left(y_1^{q(s)}\right)^{\sin\left\{\lambda\left(\frac{t^{\alpha}}{\alpha} - \frac{s^{\alpha}}{\alpha}\right)\right\}} \left(y_2^{r(s)}\right)^{\cos\left\{\lambda\left(\frac{t^{\alpha}}{\alpha} - \frac{s^{\alpha}}{\alpha}\right)\right\}} \right]_{d^*_{\alpha}s}, \tag{3.1}$$

$$y_2(t,\lambda) = \left[y_1(0)\right]^{\sin\left(\lambda\frac{t^{\alpha}}{\alpha}\right)} \left[y_2(0)\right]^{\cos\left(\lambda\frac{t^{\alpha}}{\alpha}\right)} \int_0^t \left[\left(y_1^{q(s)}\right)^{-\cos\left\{\lambda\left(\frac{t^{\alpha}}{\alpha} - \frac{s^{\alpha}}{\alpha}\right)\right\}} \left(y_2^{r(s)}\right)^{\sin\left\{\lambda\left(\frac{t^{\alpha}}{\alpha} - \frac{s^{\alpha}}{\alpha}\right)\right\}} \right]_{d_{\alpha}^* s}, \tag{3.2}$$

where $y(t, \lambda) = \begin{bmatrix} y_1(t, \lambda) & y_2(t, \lambda) \end{bmatrix}^T$.

Proof By the given $\alpha - *$ Dirac system,

$$\int_{0}^{t} \left[\left(y_{1}^{q(s)} \right)^{\sin\left\{\lambda \left(\frac{t^{\alpha}}{\alpha} - \frac{s^{\alpha}}{\alpha}\right)\right\}} \left(y_{2}^{r(s)} \right)^{\cos\left\{\lambda \left(\frac{t^{\alpha}}{\alpha} - \frac{s^{\alpha}}{\alpha}\right)\right\}} \right]_{d_{\alpha}^{*}s} = \int_{0}^{t} \left[\left(y_{1}^{\lambda} \left\{\tau y_{2}\right\}^{-1} \right)^{\sin\left\{\lambda \left(\frac{t^{\alpha}}{\alpha} - \frac{s^{\alpha}}{\alpha}\right)\right\}} \left(y_{2}^{\lambda} \tau y_{1} \right)^{\cos\left\{\lambda \left(\frac{t^{\alpha}}{\alpha} - \frac{s^{\alpha}}{\alpha}\right)\right\}} \right]_{d_{\alpha}^{*}s} = \int_{0}^{t} \left[\tau y_{2} \right]_{d_{\alpha}^{*}s}^{-\sin\left\{\lambda \left(\frac{t^{\alpha}}{\alpha} - \frac{s^{\alpha}}{\alpha}\right)\right\}} \int_{0}^{t} \left[\tau y_{1} \right]_{d_{\alpha}^{*}s}^{\cos\left\{\lambda \left(\frac{t^{\alpha}}{\alpha} - \frac{s^{\alpha}}{\alpha}\right)\right\}} \int_{0}^{t} \left[y_{1}^{\sin\left\{\lambda \left(\frac{t^{\alpha}}{\alpha} - \frac{s^{\alpha}}{\alpha}\right)\right\}} \right]_{d_{\alpha}^{*}s} \int_{0}^{t} \left[y_{2}^{\lambda \cos\left\{\lambda \left(\frac{t^{\alpha}}{\alpha} - \frac{s^{\alpha}}{\alpha}\right)\right\}} \right]_{d_{\alpha}^{*}s}.$$
(3.3)

If α -*integration by parts formula (2.5) is applied to first two multiplier in the right side of last equality, it yields that

$$\int_{0}^{t} [\tau y_2]_{d_{\alpha}^* s}^{-\sin\left\{\lambda\left(\frac{t^{\alpha}}{\alpha} - \frac{s^{\alpha}}{\alpha}\right)\right\}} = [y_2(0)]^{\sin\left(\lambda\frac{t^{\alpha}}{\alpha}\right)} \left\{ \int_{0}^{t} y_{2d_{\alpha}^* s}^{T_{\alpha}\left(\sin\left\{\lambda\left(\frac{t^{\alpha}}{\alpha} - \frac{s^{\alpha}}{\alpha}\right)\right\}\right)} \right\},\tag{3.4}$$

$$\int_{0}^{t} [\tau y_1]_{d_{\alpha}^*s}^{\cos\left\{\lambda\left(\frac{t^{\alpha}}{\alpha} - \frac{s^{\alpha}}{\alpha}\right)\right\}} = y_1(t) \left[y_1(0)\right]^{-\cos\left(\lambda\frac{t^{\alpha}}{\alpha}\right)} \left\{\int_{0}^{t} y_1^{-\alpha}\left(\cos\left\{\lambda\left(\frac{t^{\alpha}}{\alpha} - \frac{s^{\alpha}}{\alpha}\right)\right\}\right)\right\}^{-1}.$$
(3.5)

By considering (3.4) and (3.5) with the properties $T_{\alpha}f(s) = s^{1-\alpha}f'(s)$ in (3.3), we get

$$\int_{0}^{t} \left[\left(y_{1}^{q(s)} \right)^{\sin\left\{\lambda \left(\frac{t^{\alpha}}{\alpha} - \frac{s^{\alpha}}{\alpha}\right)\right\}} \left(y_{2}^{r(s)} \right)^{\cos\left\{\lambda \left(\frac{t^{\alpha}}{\alpha} - \frac{s^{\alpha}}{\alpha}\right)\right\}} \right]_{d_{\alpha}^{*}s} = \left[y_{2}(0) \right]^{\sin\left(\lambda \frac{t^{\alpha}}{\alpha}\right)} y_{1}(t) \left[y_{1}(0) \right]^{-\cos\left(\lambda \frac{t^{\alpha}}{\alpha}\right)}.$$

The asymptotic estimates (3.1) is obtained. Similarly, the asymptotic estimates (3.2) can be obtained in the same way. It completes the proof.

4. Some spectral properties of $\alpha - {}^*$ Dirac system

In here, we examine some properties of α -*Dirac system such as reality, simplicity, orthogonality and selfadjointness.

Lemma 4.1 (α -*Lagrange Identity) Let $u, v \in {}^{*}L^{2}_{\alpha}[0, b]$. Then

$$(\boldsymbol{D}_{\alpha} [u] \odot v) \ominus (u \odot \boldsymbol{D}_{\alpha} [v]) = \tau \{[u, v]_t\},\$$
where $u = u(t, \lambda) = \begin{bmatrix} u_1(t, \lambda) & u_2(t, \lambda) \end{bmatrix}^T$, $v = v(t, \lambda) = \begin{bmatrix} v_1(t, \lambda) & v_2(t, \lambda) \end{bmatrix}^T$ and
$$[u, v]_t = (u_2 \odot v_1) \ominus (u_1 \odot v_2).$$
(4.1)

Proof From (1.4), we arrive at

$$(\boldsymbol{D}_{\alpha} [\boldsymbol{u}] \odot \boldsymbol{v}) \ominus (\boldsymbol{u} \odot \boldsymbol{D}_{\alpha} [\boldsymbol{v}]) = \left\{ \left(\tau u_2 \, u_1^{q(t)} \odot \boldsymbol{v}_1 \right) \oplus \left(\tau u_1 \, u_2^{-r(t)} \odot \boldsymbol{v}_2 \right) \right\} \ominus \left\{ \left(\tau v_2 \, v_1^{q(t)} \odot \boldsymbol{u}_1 \right) \oplus \left(\tau v_1 \, v_2^{-r(t)} \odot \boldsymbol{u}_2 \right) \right\}$$
$$= \left\{ (\tau u_2 \odot \boldsymbol{v}_1) \ominus (\tau u_1 \odot \boldsymbol{v}_2) \right\} \oplus \left\{ (\tau v_1 \odot \boldsymbol{u}_2) \ominus (\tau v_2 \odot \boldsymbol{u}_1) \right\}$$
$$= \tau \left\{ (u_2 \odot \boldsymbol{v}_1) \ominus (u_1 \odot \boldsymbol{v}_2) \right\}$$

which proves the result.

Lemma 4.2 $(\alpha - * Green's Formula)$ Let $u, v \in *L^2_{\alpha}[0, b]$. Then

$$\int_{0}^{b} \left[\left(\boldsymbol{D}_{\alpha} \left[u \right] \odot v \right) \ominus \left(u \odot \boldsymbol{D}_{\alpha} \left[v \right] \right) \right]_{d_{\alpha}^{*} t} = \left[u, v \right]_{t} \Big|_{0}^{b},$$
(4.2)

where $u = u(t, \lambda) = \begin{bmatrix} u_1(t, \lambda) & u_2(t, \lambda) \end{bmatrix}^T$, $v = v(t, \lambda) = \begin{bmatrix} v_1(t, \lambda) & v_2(t, \lambda) \end{bmatrix}^T$.

Proof The proof is easily proved by multiplicative CF integral on [0, b] for both sides of $\alpha - *$ Lagrange Identity formula.

Theorem 4.3 $\alpha - {}^*Dirac \text{ operator } D_{\alpha} \text{ in } (1.1) \text{ is formally self-adjoint on } {}^*L^2_{\alpha}[0,b].$

Proof From the boundary conditions (1.2), we arrive at

$$[u,v]_b = (u_2(b) \odot v_1(b)) \ominus (u_1(b) \odot v_2(b)) = \left(u_1^{\frac{-d_1}{d_2}}(b) \odot v_1(b)\right) \ominus \left(v_1^{\frac{-d_1}{d_2}}(b) \odot u_1(b)\right) = 1.$$

Similarly, from (1.3), we have $[u, v]_0 = 1$. So, by (4.2), we obtain

$$\int_{0}^{b} \left[\left(\boldsymbol{D}_{\alpha} \left[u \right] \odot v \right) \ominus \left(u \odot \boldsymbol{D}_{\alpha} \left[v \right] \right) \right]_{d_{\alpha}^{*} t} = 1$$

or

$$\langle \boldsymbol{D}_{\alpha}\left[u\right], v \rangle_{*} = \langle u, \boldsymbol{D}_{\alpha}\left[v\right] \rangle_{*}, \tag{4.3}$$

which proves the theorem.

Theorem 4.4 All eigenvalues of $\alpha - *$ Dirac system (1.1)-(1.3) are real.

Proof Let λ be an eigenvalue with an eigenfunction $u = u(t, \lambda)$. Then,

$$\langle \mathbf{D}_{\alpha}\left[u\right], u \rangle_{*} = \langle e^{\lambda} \odot u, u \rangle_{*} = e^{\lambda} \odot \langle u, u \rangle_{*}$$

$$(4.4)$$

and

$$\langle u, \mathbf{D}_{\alpha}[u] \rangle_{*} = \langle u, e^{\lambda} \odot u \rangle_{*} = e^{\overline{\lambda}} \odot \langle u, u \rangle_{*} .$$
 (4.5)

From (4.3)-(4.5), we arrive at

$$e^{\lambda} \odot \langle u, u \rangle_* = e^{\bar{\lambda}} \odot \langle u, u \rangle_* \quad \text{or} \quad \langle u, u \rangle_* = 1.$$

Since $u(t) \neq 1$, we get $\lambda = \overline{\lambda}$. It completes the proof.

Theorem 4.5 * eigenfunctions $u = u(t, \lambda) = \begin{bmatrix} u_1(t) & u_2(t) \end{bmatrix}^T$ and $v = v(t, \mu) = \begin{bmatrix} v_1(t) & v_2(t) \end{bmatrix}^T$ corresponding to the distinct eigenvalues λ and μ are orthogonal, i.e.

$$\int_{0}^{b} \left[u^{T}(t,\lambda) \odot v(t,\mu) \right]_{d_{\alpha}^{*}t} = 1.$$

Proof If $D_{\alpha}[u] = e^{\lambda} \odot u$ and $D_{\alpha}[v] = e^{\lambda} \odot v$ from (1.4) is taken into account in the equality (4.3), we arrive at

$$\langle e^{\lambda} \odot u, v \rangle_{*} = \langle u, e^{\lambda} \odot v \rangle_{*} \quad \text{or} \quad \langle u, v \rangle_{*}^{\lambda-\mu} = 1$$

Since $\lambda \neq \mu$, $\langle u, v \rangle_* = 1$. Namely, we obtain that u(t) and v(t) are orthogonal.

Let $u = u(t, \lambda) = \begin{bmatrix} u_1(t) & u_2(t) \end{bmatrix}^T$ and $v = v(t, \mu) = \begin{bmatrix} v_1(t) & v_2(t) \end{bmatrix}^T$. Then, we define $\alpha - *$ Wronskian of u(t) and v(t) by the formula (4.1).

Theorem 4.6 α -* Wronskian of any solution for equation (1.1) is independent of t.

Proof Let u(t) and v(t) be two solutions the equation (1.1). From (4.2) and $D_{\alpha}[u] = e^{\lambda} \odot u$ and $D_{\alpha}[\bar{v}] = e^{\bar{\lambda}} \odot \bar{v}$, we arrive at

$$\int_{0}^{t} \left[u^{T}(x,\lambda) \odot v(x,\mu) \right]_{d_{\alpha}^{*}t}^{\lambda-\bar{\lambda}} = \frac{u\left[u,\bar{v}\right]_{t}}{u\left[u,\bar{v}\right]_{0}}.$$

On the other hand, since $\lambda = \overline{\lambda}$ (from Theorem 4.4) and $[u, \overline{v}]_0 = 1$, then $^*W_{\alpha}(u, v)(t) = [u, v]_t = 1$, i.e., $\alpha - ^*$ Wronskian is independent of t.

Theorem 4.7 Any two solutions of equation (1.1) are multiplicative linearly dependent iff their α - * Wronskian is one.

Proof Let u(t) and v(t) be two multiplicative linearly dependent solutions the equation (1.1). Then, there exists a constant $c \neq 1$ where $u(t) = v(t)^c$ [48]. Hence,

$$^{*}W_{\alpha}(u,v)(t) = [u,v]_{t} = (u_{2}(t) \odot v_{1}(t)) \ominus (u_{1}(t) \odot v_{2}(t)) = (v_{2}(t)^{c} \odot v_{1}(t)) \ominus (v_{1}(t)^{c} \odot v_{2}(t)) = 1$$

Conversely, $^{*}W_{\alpha}(u,v)(t) = (u,v)(t) = 1$, and therefore, $u(t) = v(t)^{c}$, i.e., u(t) and v(t) be two multiplicative linearly dependent.

Lemma 4.8 All * eigenvalues of α - * Dirac system (1.1)-(1.3) are simple from the geometric point of view.

Proof Let μ be an eigenvalue for *eigenfunctions u(t) and v(t).

By the condition (1.2), we get $^*W_{\alpha}(u,v)(0) = [u,v]_0 = 1$, then the set $\{u(t), v(t)\}$ is linearly dependent. Consequently, one *eigenfunction corresponds to one *eigenvalue.

Theorem 4.9 All * eigenvalues of α – * Dirac system (1.1)-(1.3) are simple.

Proof Since $\varphi(t) = \varphi(t, \lambda)$ satisfies boundary conditions (1.2), to determine *eigenvalues of the system, $\varphi_1(t, \lambda), \varphi_2(t, \lambda)$ should be substituted in boundary condition (1.3), and its roots should be determined. Put

$$V(\lambda) = \varphi_1^{d_1}(b) \, \varphi_2^{d_2}(b)$$

Then,

$$\eta V(\lambda) = \eta \varphi_1^{d_1}(b) \, \eta \varphi_2^{d_2}(b),$$

where η denotes $\frac{\partial_{\alpha}^{*}}{\partial_{\alpha}^{*}\lambda}$ (partial multiplicative conformable derivative of order $\alpha \in (0, 1]$ on λ) for brevity.

Let $\tilde{\lambda}$ be a double * eigenvalue, and $\tilde{\varphi}(t) = \tilde{\varphi}(t, \tilde{\lambda})$ be one of the corresponding * eigenfunctions. Then,

$$V(\tilde{\lambda}) = 1, \qquad \eta V(\tilde{\lambda}) = 1$$

should be fulfilled simultaneously, i.e.,

$$\tilde{\varphi}_{1}^{d_{1}}(b)\,\tilde{\varphi}_{2}^{d_{2}}(b) = 1,$$

 $\eta\tilde{\varphi}_{1}^{d_{1}}(b)\,\eta\tilde{\varphi}_{2}^{d_{2}}(b) = 1.$

Since $(d_1^2 + d_2^2) \neq 0$, it follows from the last two equalities that

$$\ln \tilde{\varphi}_1(b) \ln \eta \tilde{\varphi}_2(b) - \ln \tilde{\varphi}_2(b) \ln \eta \tilde{\varphi}_1(b) = 0.$$
(4.6)

By the multiplicative CF differentiating with respect to λ both sides of the system (1.4), we have

$$\tau(\eta y_2) (\eta y_1)^{q(t)-\lambda} = y_1^{\lambda^{1-\alpha}}, \tau(\eta y_1) (\eta y_2)^{\lambda-r(t)} = y_2^{-\lambda^{1-\alpha}}.$$

$$(4.7)$$

After using the natural logarithm of the equations in the system (1.4), multiplying by $\ln \eta y_1$, $-\ln \eta y_2$, respectively, we arrive at

$$\ln \tau y_2 \ln \eta y_1 + (q(t) - \lambda) \ln y_1 \ln \eta y_1 = 0, -\ln \tau y_1 \ln \eta y_2 + (r(t) - \lambda) \ln y_2 \ln \eta y_2 = 0.$$
(4.8)

On the other hand, after using the natural logarithm of the equations in the system (4.7), multiplying by $-\ln y_1$, $\ln y_2$, respectively, we arrive at

$$-\ln y_1 \ln \tau(\eta y_2) - (q(t) - \lambda) \ln y_1 \ln \eta y_1 = -\lambda^{1-\alpha} \ln^2 y_1, \ln y_2 \ln \tau(\eta y_1) + (\lambda - r(t)) \ln y_2 \ln \eta y_2 = -\lambda^{1-\alpha} \ln^2 y_2.$$
(4.9)

After the equalities (4.8) and (4.9) are added side by side, from (2.1), we obtain

$$T_{\alpha} \left(\ln y_1 \, \ln \eta y_2 - \ln y_2 \, \ln \eta y_1 \right) = \lambda^{1-\alpha} \left(\ln^2 y_1 + \ln^2 y_2 \right), \tag{4.10}$$

where $T_{\alpha}f$ is defined by left CF derivative of f order $\alpha \in (0, 1]$.

By the left CF integration with respect to t on [0, b] to both sides of the equality (4.10), we have

$$\lambda^{1-\alpha} \int_{0}^{b} \left[\ln^2 y_1 + \ln^2 y_2 \right] d_{\alpha} t = \left\{ \ln y_1 \, \ln \eta y_2 - \ln y_2 \, \ln \eta y_1 \right\}_{t=0}^{b}.$$
(4.11)

By using the equality (4.6) and

$$\eta \tilde{\varphi}_1(0, \tilde{\lambda}) = \eta \tilde{\varphi}_2(0, \tilde{\lambda}) = 1$$

from Theorem (3.1) when $\lambda = \tilde{\lambda}$ on the equality (4.11), we get

$$\int_{0}^{b} \left[\ln^2 \tilde{\varphi}_1 + \ln^2 \tilde{\varphi}_2 \right] d_{\alpha} t = 0.$$

Consequently, $\tilde{\varphi}_1(t, \tilde{\lambda}) = \tilde{\varphi}_2(t, \tilde{\lambda}) = 1$ or $\tilde{\varphi}(t, \tilde{\lambda}) = 1$. This is a contradiction. It completes the proof. \Box Let

$$\varphi_1 := \varphi_1(t,\lambda) = \begin{bmatrix} \varphi_{11}(t,\lambda) \\ \varphi_{12}(t,\lambda) \end{bmatrix}, \quad \varphi_2 := \varphi_2(t,\lambda) = \begin{bmatrix} \varphi_{21}(t,\lambda) \\ \varphi_{22}(t,\lambda) \end{bmatrix},$$

be linearly independent solutions of (1.1) which satisfies initial conditions

$$\varphi_{i,j}(0,\lambda) = \delta_{ij}^* \quad i,j = 1,2 \quad \lambda \in \mathbb{C},$$

where $\delta_{ij}^* = \begin{cases} e, & i=j \\ 1, & i \neq j \end{cases}$ is the *Kronecker delta. Then, each solution of (1.1) has the form

$$y(t,\lambda) = \varphi_1^{\xi_1} \, \varphi_2^{\xi_2},$$

where ξ_1 and ξ_2 do not depend on t. If we can obtain a non-trivial solution of linear system

$$U_1(\varphi_1)^{\xi_1} U_1(\varphi_2)^{\xi_2} = 1, U_2(\varphi_1)^{\xi_1} U_2(\varphi_2)^{\xi_2} = 1,$$

or

$$\begin{aligned} \xi_1 \ln U_1(\varphi_1) + \xi_2 \ln U_1(\varphi_2) &= 0, \\ \xi_1 \ln U_2(\varphi_1) + \xi_2 \ln U_2(\varphi_2) &= 0, \end{aligned}$$

 $y(t, \lambda)$ is called an *eigenfunction of the equation (1.1), where U_1 and U_2 defined by (1.5). Hence, $\lambda \in \mathbb{R}$ is an *eigenvalue iff

$$^{*}\Delta_{\alpha}(\lambda) = \begin{vmatrix} \ln U_{1}(\varphi_{1}) & \ln U_{1}(\varphi_{2}) \\ \ln U_{2}(\varphi_{1}) & \ln U_{2}(\varphi_{2}) \end{vmatrix} = 0.$$

 $\Delta_{\alpha}(\lambda)$ is called the characteristic determinant associated with α – * Dirac system defined by (1.1)-(1.3).

Corollary 4.10 * eigenvalues of (1.1)-(1.3) are zeros of $*\Delta_{\alpha}(\lambda)$. Since $\varphi_1(t,\lambda)$ and $\varphi_2(t,\lambda)$ are entire in λ for each fixed $x \in [0,b]$, $*\Delta_{\alpha}(\lambda)$ is an entire function in λ . Hence, * eigenvalues of the system (1.1)-(1.3) are at most countable with no finite limit points.

5. $\alpha - *$ Green's function

In this section, $\alpha - *$ Green's function will be constructed for $\alpha - *$ Dirac system which is not homogeneous and some of its properties will be given. We consider the system

$$\tau y_2 \, y_1^{q(t)-\lambda} = e^{f_1(t)},\tag{5.1}$$

$$\tau y_1 y_2^{\lambda - r(t)} = e^{f_2(t)},\tag{5.2}$$

with the conditions

$$U_1(y) = y_1^{c_1}(0) \, y_2^{c_2}(0) = 1, \tag{5.3}$$

$$U_2(y) = y_1^{d_1}(b) \, y_2^{d_2}(b) = 1, \tag{5.4}$$

where λ is a spectral parameter; q(t), r(t) real-valued continuous and multiplicative CF integrable functions on [0, b]; $(c_1^2 + c_2^2) (d_1^2 + d_2^2) \neq 0$; $f(t) = \begin{bmatrix} e^{f_1(t)} & e^{f_2(t)} \end{bmatrix}^T$.

Theorem 5.1 Let's admit that λ is not an * eigenvalue of (1.1)-(1.3) and $y(\cdot, \lambda)$ satisfies system (5.1),(5.2) and conditions (5.3), (5.4). Then,

$$y(t,\lambda) = \int_{0}^{b} \left({}^{*}G_{\alpha}(t,x,\lambda) \odot e^{f(x)} \right)_{d_{\alpha}^{*}x}, \quad x \in [0,b]$$
(5.5)

where $e^{f(t)} \in {}^*L^2_{\alpha}[0,b]$ and ${}^*G_{\alpha}(t,x,\lambda)$ is $\alpha - {}^*Green's$ function for (5.1)-(5.4) defined by

$${}^{*}G_{\alpha}(t,x,\lambda) = e^{\frac{-1}{*\Delta_{\alpha}(\lambda)}} \odot \begin{cases} \theta_{2}(t,\lambda) \odot \left[\theta_{1}(x,\lambda)\right]^{T}, & 0 \le x \le t\\ \theta_{1}(t,\lambda) \odot \left[\theta_{2}(x,\lambda)\right]^{T}, & t < x \le b \end{cases}$$
(5.6)

Conversely, $y(\cdot, \lambda)$ is defined by the system (5.1),(5.2) and the conditions (5.3), (5.4). Furthermore, ${}^*G_{\alpha}(t, x, \lambda)$ is unique. Here, θ_1 and θ_2 are linearly independent solutions of the system (5.1),(5.2) and the conditions (5.3), (5.4).

Proof By notion of α -*Green's function, we get

$${}^{*}G_{\alpha}(t,x,\lambda) \odot e^{f(x)} = \begin{cases} \left\{ \theta_{11}(x)^{f_{1}(x)} \theta_{12}(x)^{f_{2}(x)} \right\}^{\ln \theta_{21}(t) \frac{-1}{*\Delta_{\alpha}(\lambda)}} \\ \left\{ \theta_{11}(x)^{f_{1}(x)} \theta_{12}(x)^{f_{2}(x)} \right\}^{\ln \theta_{22}(t) \frac{-1}{*\Delta_{\alpha}(\lambda)}} \end{cases}, \quad 0 \le x \le t \\ \left\{ \theta_{21}(x)^{f_{1}(x)} \theta_{22}(x)^{f_{2}(x)} \right\}^{\ln \theta_{11}(t) \frac{-1}{*\Delta_{\alpha}(\lambda)}} \\ \left\{ \theta_{21}(x)^{f_{1}(x)} \theta_{22}(x)^{f_{2}(x)} \right\}^{\ln \theta_{12}(t) \frac{-1}{*\Delta_{\alpha}(\lambda)}} \end{cases}, \quad t < x \le b \end{cases}$$
(5.7)

From (5.5), applying multiplicative CF integration to (5.7) with respect to x on [0, b], it follows that

$$y_{1}(t,\lambda) = \left\{ \int_{0}^{t} \left[\theta_{11}(x)^{f_{1}(x)} \theta_{12}(x)^{f_{2}(x)} \right]_{d_{\alpha}^{*}x} \right\}^{-\frac{\ln \theta_{21}(t)}{*\Delta_{\alpha}(\lambda)}} \left\{ \int_{t}^{b} \left[\theta_{21}(x)^{f_{1}(x)} \theta_{22}(x)^{f_{2}(x)} \right]_{d_{\alpha}^{*}x} \right\}^{-\frac{\ln \theta_{11}(t)}{*\Delta_{\alpha}(\lambda)}}, \quad (5.8)$$

$$y_{2}(t,\lambda) = \left\{ \int_{0}^{t} \left[\theta_{11}(x)^{f_{1}(x)} \theta_{12}(x)^{f_{2}(x)} \right]_{d_{\alpha}^{*}x} \right\}^{\frac{-\ln \theta_{22}(t)}{*\Delta_{\alpha}(\lambda)}} \left\{ \int_{t}^{b} \left[\theta_{21}(x)^{f_{1}(x)} \theta_{22}(x)^{f_{2}(x)} \right]_{d_{\alpha}^{*}x} \right\}^{\frac{-\ln \theta_{12}(t)}{*\Delta_{\alpha}(\lambda)}}.$$
 (5.9)

Now, by differentiating both sides of the equation (5.8) in multiplicative CF sence with respect to t, we have

$$\begin{aligned} \tau y_1(t,\lambda) &= \left\{ \int_0^t \left[\theta_{11}(x)^{f_1(x)} \,\theta_{12}(x)^{f_2(x)} \right]_{d_{\alpha}^* x} \right\}^{\frac{-T_{\alpha} \ln \theta_{21}(t)}{*\Delta_{\alpha}(\lambda)}} \left\{ \int_t^b \left[\theta_{21}(x)^{f_1(x)} \,\theta_{22}(x)^{f_2(x)} \right]_{d_{\alpha}^* x} \right\}^{\frac{-T_{\alpha} \ln \theta_{11}(t)}{*\Delta_{\alpha}(\lambda)}} \\ &= \left\{ \int_0^t \left[\theta_{11}(x)^{f_1(x)} \,\theta_{12}(x)^{f_2(x)} \right]_{d_{\alpha}^* x} \right\}^{\frac{(\lambda - r(t)) \ln \theta_{22}(t)}{*\Delta_{\alpha}(\lambda)}} \left\{ \int_t^b \left[\theta_{21}(x)^{f_1(x)} \,\theta_{22}(x)^{f_2(x)} \right]_{d_{\alpha}^* x} \right\}^{\frac{(\lambda - r(t)) \ln \theta_{12}(t)}{*\Delta_{\alpha}(\lambda)}} e^{f_2(t)} \\ &= \left\{ y_2(t,\lambda) \right\}^{(r(t)-\lambda)} e^{f_2(t)} \end{aligned}$$

It is proved similarly that the validity of (5.1).

Now, let us prove uniqueness of $\alpha - *$ Green's function for the given system. Let's face it, there is another $\alpha - *$ Green's function $\widetilde{*G_{\alpha}}(t, x, \lambda)$ for same system. Then, we get

$$y(t,\lambda) = \int_{0}^{b} \left({}^{*}G_{\alpha}(t,x,\lambda) \odot e^{f(x)} \right)_{d_{\alpha}^{*}x},$$

and

$$y(t,\lambda) = \int_{0}^{b} \left(\widetilde{*G_{\alpha}}(t,x,\lambda) \odot e^{f(x)}\right)_{d_{\alpha}^{*}x}.$$

Thence, we get

$$\int_{0}^{b} \left(\left\{ {}^{*}G_{\alpha}(t,x,\lambda) \ominus \widetilde{{}^{*}G_{\alpha}}(t,x,\lambda) \right\} \odot e^{f(x)} \right)_{d_{\alpha}^{*}x} = 1.$$

By setting $f(t) = \ln \overline{*G_{\alpha}(t, x, \lambda) \ominus \widetilde{*G_{\alpha}}(t, x, \lambda)}$, it yields

$$\int_{0}^{b} \left(\left\{ {}^{*}G_{\alpha}(t,x,\lambda) \ominus \widetilde{{}^{*}G_{\alpha}}(t,x,\lambda) \right\} \odot \left\{ \overline{{}^{*}G_{\alpha}(t,x,\lambda) \ominus \widetilde{{}^{*}G_{\alpha}}(t,x,\lambda)} \right\} \right)_{d_{\alpha}^{*}x} = 1,$$

or

$${}^{*}G_{\alpha}(t,x,\lambda) \ominus \widetilde{{}^{*}G_{\alpha}}(t,x,\lambda) = 1 \quad \mathrm{or} \quad {}^{*}G_{\alpha}(t,x,\lambda) = \widetilde{{}^{*}G_{\alpha}}(t,x,\lambda)$$

This completes the proof.

Theorem 5.2 α - * Green's function of (1.1)-(1.3) has below properties:

- i) $*G_{\alpha}(t,x,\lambda)$ is continuous at (0,0).
- *ii)* $^*G_{\alpha}(t,x,\lambda) = {}^*G_{\alpha}^T(x,t,\lambda).$

iii) $*G_{\alpha}(t, x, \lambda)$ satisfies the equation (1.1) and conditions (1.2)-(1.3) for all $x \in \mathbb{R}$ as a function of t. *iv)* Let λ_0 be an eigenvalue of $*\Delta_{\alpha}(\lambda)$. Then, λ_0 is simple pole point of $*G_{\alpha}(t, x, \lambda)$ and

$${}^{*}G_{\alpha}(t,x,\lambda) = \left[\psi_{0}(t)^{-\psi_{0}(x)}\right]^{\frac{1}{\lambda-\lambda_{0}}} \widetilde{{}^{*}G_{\alpha}}(t,x,\lambda).$$

Here, $\widetilde{G}_{\alpha}(t, x, \lambda)$ is * type holomorfic function of λ in the neighbourhood of λ_0 , ψ is normalized eigenfunction related to λ_0 .

Proof *i*) Proof is obtained by continuity of $\theta_1(.,\lambda)$ and $\theta_2(.,\lambda)$ for all $\lambda \in \mathbb{C}$.

ii) It can be easily proved if some basic features of multiplicative calculus are used. *iii*) Let $x \in [0, t]$. Then,

$${}^{*}G_{\alpha}(t,x,\lambda) = \begin{bmatrix} {}^{*}G_{\alpha 1}(t,x,\lambda) \\ {}^{*}G_{\alpha 2}(t,x,\lambda) \end{bmatrix} = \begin{bmatrix} \{\theta_{11}(x)\,\theta_{12}(x)\}^{\ln\theta_{21}(t)\frac{-1}{*\Delta_{\alpha}(\lambda)}} \\ \{\theta_{11}(x)\,\theta_{12}(x)\}^{\ln\theta_{22}(t)\frac{-1}{*\Delta_{\alpha}(\lambda)}} \end{bmatrix}$$

or

$$\boldsymbol{D}_{\alpha}^{*}G_{\alpha}(t,x,\lambda) = e^{\lambda} \odot^{*}G_{\alpha}(t,x,\lambda).$$

Similarly, proof can be made for $x \in [t, b]$.

$$[e^{c_1} \odot {}^*G_{\alpha 1}(0, x, \lambda)] \oplus [e^{c_2} \odot {}^*G_{\alpha 2}(0, x, \lambda)] = \left[\{\theta_{11}(x) \, \theta_{12}(x)\}^{\ln\left(\theta_{21}^{c_1}(0)\theta_{22}^{c_2}(0)\right)} \right]^{\frac{1}{*\Delta_{\alpha}(\lambda)}} = 1$$

and

$$\left[e^{d_1} \odot {}^*G_{\alpha 1}(b, x, \lambda)\right] \oplus \left[e^{d_2} \odot {}^*G_{\alpha 2}(b, x, \lambda)\right] = \left[\left\{\theta_{11}(x) \,\theta_{12}(x)\right\}^{\ln\left(\theta_{21}^{d_1}(b)\theta_{22}^{d_2}(b)\right)}\right]^{\frac{-1}{*\Delta_{\alpha}(\lambda)}} = 1$$

iv) Let λ_0 be pole point of ${}^*G_{\alpha}(t, x, \lambda)$ and R(t, x) be * residue of ${}^*G_{\alpha}(t, x, \lambda)$ at $\lambda = \lambda_0$. By Corollary 4.10, we get

$$R(t,x) = \psi_0(t,\lambda_0)^{-\psi_0(x,\lambda_0)}.$$

It completes the proof.

6. Conclusion

We established the multiplicative CF Dirac system. Actually, this system is a fractional generalization of the multiplicative Dirac system[28] in case $\alpha = 1$. Firstly, we obtained the *eigenfunctions of that system. Later, we proved that *eigenvalues are real and simple, and the *eigenfunctions are orthogonal in $*L^2_{\alpha}[0, b]$. We obtained Green's function on the multiplicative case. We think that this system, which is extremely important for quantum physics and effective in both classical and fractional cases, will make great contributions to mathematical physics in multiplicative cases. In fact, this equation, which we examined in the multiplicative case, corresponds to an equation that is much more difficult and tiring to analyze in classical and fractional calculus. This situation increases the importance of the results we obtained and the different calculus we used.

References

- Abdeljawad T. On conformable fractional calculus. Journal of Computational and Applied Mathematics 2015; 276: 57-66.
- [2] Abdeljawad T, Grossman M. On geometric fractional calculus. Journal of Semigroup Theory and Applications 2016; 2016 (2): 1-14.
- [3] Allahverdiev BP, Tuna H. One-dimensional qDirac equation. Mathematical Methods in the Applied Sciences 2017; 40 (18): 7287-7306.
- [4] Allahverdiev BP, Tuna H. One-dimensional conformable fractional Dirac system. Boletín de la Sociedad Matemática Mexicana 2020; 26 (1): 121–146.
- [5] Aniszewska D. Multiplicative Runge–Kutta methods. Nonlinear Dynamics 2007; 50 (1-2): 265-272.
- [6] Aniszewska D, Rybaczuk M. Chaos in multiplicative systems. Chaotic Systems: Theory and Applications 2010; 2010: 9-16.
- [7] Atangana A, Baleanu D, Alsaedi A. New properties of conformable derivative. Open Mathematics 2015; 13 (1): 889-898.
- [8] Bairamov E, Aygar Y, Olgun M. Jost solution and the spectrum of the discrete Dirac systems. Boundary Value Problems 2010; 2010(Article ID 306571): 1-11.
- Bashirov AE, Bashirova G. Dynamics of literary texts and diffusion. Online Journal of Communication and Media Technologies 2011; 1 (3): 60-82.
- [10] Bashirov AE, Kurpinar EM, Ozyapici A. Multiplicative calculus and its applications. Journal of Mathematical Analysis and Applications 2008; 337 (1): 36-48.
- [11] Bashirov AE, Riza M. On complex multiplicative differentiation. TWMS Journal on Applied and Engineering Mathematics 2011; 1 (1): 75-85.

GÖKTAŞ et al./Turk J Math

- [12] Bashirov AE, Misirli E, Tandogdu Y, Ozyapici A. On modeling with multiplicative differential equations. Applied Mathematics-A Journal of Chinese Universities 2011; 26 (4): 425-438.
- [13] Baleanu D, Guvenc ZB, Machado JAT. New trends in nanotechnology and fractional calculus applications, New York (NY): Springer, 2010.
- [14] Benford A. The Law of anomalous numbers. Proceedings of the American Philosophical Society 1938; 78 (4): 551-572.
- [15] Benkhettou N, da Cruz AMB, Torres DFM. A fractional calculus on arbitrary time scales: fractional differentiation and fractional integration. Signal Processing 2015; 107: 230-237.
- [16] Benkhettou N, Hassani S, Torres DFM. A conformable fractional calculus on arbitrary time scales. Journal of King Saud University-Science 2016; 28 (1): 93-98.
- [17] Boruah K, Hazarika B. G-Calculus. TWMS Journal of Applied and Engineering Mathematics 2018; 8 (1): 94-105.
- [18] Cheng M, Jiang Z. A new class of production function model and its application. Journal of Systems Science and Information 2016; 4 (2): 177-185.
- [19] Çöl A, Mamedov KhR. On an inverse scattering problem for a class of Dirac operators with spectral parameter in the boundary condition. Journal of Mathematical Analysis and Applications 2012; 393 (2): 470-478.
- [20] Dirac PAM. The quantum theory of the electron. Proceedings of the Royal Society A: Mathematical, Physical and Engineering Sciences 1928; 117 (778): 610-624.
- [21] Filip D, Piatecki C. A non-newtonian examination of the theory of exogenous economic growth. Mathematica Aeterna 2014; 4 (2): 101-117.
- [22] Florack L, Assen Hv. Multiplicative calculus in biomedical image analysis. Journal of Mathematical Imaging and Vision 2012; 42 (1): 64-75.
- [23] Gasymov MG, Levitan BM. The inverse problem for the Dirac system. Doklady Akademy Nauk SSSR 1966; 16 7 (5): 967-970.
- [24] Goktas S, Yilmaz E, Yar AC. Multiplicative derivative and its basic properties on time scales. Mathematical Methods in the Applied Science 2022; 45: 2097-2109.
- [25] Grossman M. An introduction to Non-Newtonian calculus. International Journal of Mathematical Education in Science and Technology 1979; 10 (4): 525–528.
- [26] Grossman M, Katz R. Non-Newtonian calculus, Pigeon Cove, MA: Lee Press, 1972.
- [27] Gulsen T, Yilmaz E, Goktas S. Conformable fractional Dirac system on time scales. Journal of inequalities and applications 2017; 2017 (1): 1-10.
- [28] Gulsen T, Yilmaz E, Goktas S, Multiplicative Dirac System. Kuwait Journal of Science 2022. doi:10.48129/kjs.13411
- [29] Gurefe Y. Multiplicative differential equations and its applications. Ph.D. Thesis, 2013; Ege University, pp.91.
- [30] Joa I, Minkin A. Eigenfunction estimate for a Dirac operator. Acta Mathematica Hungarica 1997; 76 (4): 337-349.
- [31] Kadak U, Gurefe Y. A generalization on weighted means and convex functions with respect to the Non-Newtonian calculus. International Journal of Analysis 2016; 2016 (Article ID 5416751): 1-9.
- [32] Keskin B, Ozkan AS. Inverse spectral problems for Dirac operator with eigenvalue dependent boundary and jump conditions. Acta Mathematica Hungarica 2011; 130 (4): 309-320.
- [33] Khalil R, Al Horani M, Yousef A, Sababheh M. A new definition of fractional derivative. Journal of computational and applied mathematics 2014; 264: 65-70.
- [34] Kilbas AA, Srivastava HM, Trujillo JJ. Theory and applications of fractional differential equations (Vol. 204), Elsevier, 2006.
- [35] Levitan BM, Sargsjan IS. Sturm-Liouville and Dirac operators, Moscow: Nauka, 1991.

GÖKTAŞ et al./Turk J Math

- [36] Machado JT, Kiryakova V, Mainardi F. Recent history of fractional calculus. Communications in nonlinear science and numerical simulation 2011; 16 (3): 1140-1153.
- [37] Miller KS. An introduction to fractional calculus and fractional differential equations. New York (NY): J Wiley and Sons, 1993.
- [38] Muslih SI, Agrawal OP, Baleanu D. A fractional Dirac equation and its solution. Journal of Physics A: Mathematical and Theoretical 2010; 43 (5):055203.
- [39] Oldham KB, Spanier J. The Fractional Calculus. New York (NY): Academic Press, 1974.
- [40] Ortigueira MD, Machado JAT. What is a fractional derivative? Journal of computational Physics 2015; 293: 4-13.
- [41] Özyapıcı H, Dalcı İ, Özyapıcı A. Integrating accounting and multiplicative calculus: an effective estimation of learning curve. Computational and Mathematical Organization Theory 2017; 23 (2): 258-270.
- [42] Podlubny I. Fractional Differential Equations. New York: Academic Press, 1999.
- [43] Stanley DA. A multiplicative calculus. Primus IX 1999; 9 (4): 310-326.
- [44] Tikhonov AN, Samarskii AA. Equations of mathematical physics. Oxford Pergamon Press, New York, 1963.
- [45] Wang Y, Zhou J, Li Y. Fractional Sobolev's spaces on time scales via conformable fractional calculus and their application to a fractional differential equation on time scales. Advances in Mathematical Physics 2016; 2016 Article ID 9636491: 1-21.
- [46] Yalcin N. The solutions of multiplicative Hermite differential equation and multiplicative Hermite polynomials. Rendiconti del Circolo Matematico di Palermo Series 2 2021; 70: 9-21.
- [47] Yalcin N, Celik E, Gokdogan A. Multiplicative Laplace transform and its applications. Optik 2016; 127: 9984-9995.
- [48] Yalcin N, Celik E. Solution of multiplicative homogeneous linear differential equations with constant exponentials. New Trends in Mathematical Sciences 2018; 6 (2): 58-67.
- [49] Yalcin N, Dedeturk M. Solutions of multiplicative ordinary differential equations via the multiplicative differential transform method. AIMS Mathematics 2021; 6 (4): 3393-3409.
- [50] Yilmaz E. Multiplicative Bessel equation and its spectral properties. Ricerche di Matematica 2021. doi: 10.1007/s11587-021-00674-1